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[ OO union myun {struct {intx,y,z.}u. int k. }a. main()
{a.u.x=4.a.u.y=5.a.u.z=6. a.k=0. printf( %d n” ,a.u.x).} 0 OO
Jo0o0ododoAd4d4BosSCcUeDOO OO0
[ O 0O () #include main() { chars1 O ="123",s2[J [1 ="abc",ss

[J 2000 ="010"0J strcat(ss 1,strcpy(s2,s1)). printf("%sL] n",ss). }
A)010123 B)0abc C)01123 D)0labc 4.0 U 0 OO O # include main(
{int*p,J. p=NULL. p=fun(). for(j=0.jIt.4.k )alJ kI =k. return(a). }
JodododoooogAuLUOooooooBoOo4
ONULLC)OO0123D)0 011115000000 void
fun(intk) { static intal] 501 . int i. for(i=0.ilamp.m,gt.n)m-=n.
while(nlt.00 O It.s2). {t=*s1 . *s1=*s2--. *s2=t. } } main() {charpl
(1 ="1234567". fun(p,strlen(p)). puts(p). } O OO OO OO OO O
[ () A)1234567 B)7654321 C)1711717 D)71771719.0 0 0 0 O O
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[I struct student {char name[J 1000 O float scored 3] [J [ stuld 3
O ={{"lili",75,90,90}, {"liudan",90,85,75}. {"guoli",85,85,70}}. main()
{int i.float sum=0,aver. for(i=0.i&It.3.1 ) sum=sum stull i[] .score

(1 100 .aver=sum/i. printf("%6.2fC0 n"aver).} 0 OO0 00 0 0O 0O O
000 () A)83.33 B)85.00 C)86.00 D)86.67 10.00 1 O I 0 I
struct person {char namel] 901 .int age.} struct person class[] 10

1 ={"John",17, "Paul",19, "Mary",18, "Adam",16}. [0 J OO OJ OO M
I () A)printf("%cl] n",classL] 311 .name). B)printf("%cl n",class
[ 30 .namel] 100 ). C)printf("%c] n",classL] 201 .namel] 101 ).
D)printf("%cl n",classl] 20 .namelJ 000 ). 0 O O 1.B2.D 3.A4.A
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